Time:

Project: IMPROVEMENTS Location: KLEIN AVENUE

A/E Firm: STOCKWELL ENGINEERS, INC. Address: 801 N. PHILLIPS AVENUE, SUITE 100

City/State/Zip: SIOUX FALLS, SD 57104 Phone No.: 605.338.6668

Value of OFM: \$

Bid Estimate: \$810,000.00 Budget: \$ 990,997.00 Letting Date:

12/07/23 2:15 PM

Bidder: Inc. Address: PO Box 89106 City/State/Zip: Sioux Falls, SD 57109 City/State/Zip: Tea, SD 57064 Phone No.: 605.332.5282

Soukup Construction,

Bidder: and Underground, LLC Address: PO Box 310 Phone No.: 605.929.0012

Backhaus Excavation

Bidder: Connections Address: PO Box 98 City/State/Zip: Harrisburg, SD 57032 Phone No.: 605.231.6441

Underground

Asphalt Surfacing Bidder: Company Address: 1205 W. Russell Street City/State/Zip: Sioux Falls, SD 57104 Phone No.: 605.338.4921

1

17,738.13

KLEIN AVENUE STREET & UTILITY

Item No. St	d. Bid Item No.	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	9.0010	Mobilization	LS	1	\$ 76,582.77	\$ 76,582.77	\$72,500.00	\$72,500.00	\$107,950.00	\$107,950.00	\$82,000.00	\$82,000.00
2	9.0550	Tax on City Furnished Materials	LS	1	\$ 1,099.76	\$ 1,099.76	\$1,099.76	\$1,099.76	\$1,099.76	\$1,099.76	\$1,099.76	\$1,099.76
3	250.0020	Incidental Work, Grading	LS	1	\$ 7,555.00	\$ 7,555.00	\$1,343.75	\$1,343.75	\$5,000.00	\$5,000.00	\$13,200.00	\$13,200.00
4	950.5700	Locating Utility	Each	5	\$ 150.00	\$ 750.00	\$100.00	\$500.00	\$250.00	\$1,250.00	\$330.00	\$1,650.00
5	950.5710	Verify Utility	Each	30	\$ 100.00	\$ 3,000.00	\$100.00	\$3,000.00	\$250.00	\$7,500.00	\$410.00	\$12,300.00
6	634.0110	Traffic Control	SaFt	187.5	\$ 4.25	\$ 796.88	\$4.30	\$806.25	\$4.50	\$843.75	\$4.60	\$862.50
7	634.0120	Traffic Control, Miscellaneous	LS	1	\$ 2,865.00	\$ 2,865.00	\$6,987.50	\$6,987.50	\$7,150.00	\$7,150.00	\$3,100.00	\$3,100.00
8	634.0285	Type 3 Barricade, 8' Double Sided	Each	16	\$ 106.00	\$ 1,696.00	\$107.50	\$1,720.00	\$110.00	\$1,760.00	\$115.00	\$1,840.00
9	634.0420	Type C Advance Warning Arrow Panel	Each	1	\$ 795.00	\$ 795.00	\$967.50	\$967.50	\$1,000.00	\$1,000.00	\$860.00	\$860.00
10	634.1215	Contractor Furnished Portable Changeable Message Sign	Each	1	\$ 636.00	\$ 636.00	\$537.50	\$537.50	\$550.00	\$550.00	\$690.00	\$690.00
11	634.2000	Longitudinal Pedestrian Barricade	Ft	28	10.75		\$5.38	\$150.64	\$5.50	\$154.00	\$11.45	\$320.60
12	634.2015	Temporary Pedestrian Access Route	LS	1	\$ 1,500.00		\$2,500.00	\$2,500.00	\$11.00	\$11.00	\$1,900.00	\$1,900.00
13	120.6300	Water For Vegetation	MGal	175	5.30		\$10.70	\$1,872.50	\$11.00	\$1,925.00	\$11.45	\$2,003.75
14	730.0300	Arterial and Collector Seed Mix	Lb	42	10.65	\$ 447.30	\$10.70	\$449.40	\$11.00	\$462.00	\$11.45	\$480.90
15	730.0301	Quality Green Turf Mix	Lb	125	10.65		\$10.70	\$1,337.50	\$11.00	\$1,375.00	\$11.45	\$1,431.25
16	731.0100	Fertilizing	Lb	205	1.10		\$1.07	\$219.35	\$1.50	\$307.50	\$1.15	\$235.75
17	731.0200	Weed Control	Sq Yd	2890	0.10		\$0.06	\$173.40	\$0.25	\$722.50	\$0.10	\$289.00
18	731.0210	Weed Control - Project	LS	1	\$ 425.00		\$428.00	\$428.00	\$450.00	\$450.00	\$460.00	\$460.00
19	732.0200	Fiber Mulching	Ton	0.98	\$ 1,272.00	\$ 1,246.56	\$2,140.00	\$2,097.20	\$2,200.00	\$2,156.00	\$2,300.00	\$2,254.00
20	734.0105	Erosion Control Blanket	SqYd	560	1.65	\$ 924.00	\$1.66	\$929.60	\$1.75	\$980.00	\$1.80	\$1,008.00
21	734.0601	Silt Fence	Ft	96	\$ 1.10		\$3.21	\$308.16	\$3.50	\$336.00	\$3.45	\$331.20
22	110.1700	Remove Silt Fence	Ft	96	0.55	\$ 52.80	\$0.55	\$52.80	\$1.00	\$96.00	\$0.60	\$57.60
23	734.0850	Inlet Protection	Each	9	90.25		\$90.95	\$818.55	\$95.00	\$855.00	\$97.10	\$873.90
24	734.5010	Sweeping	Hour	15	100.00		\$100.00	\$1,500.00	\$150.00	\$2,250.00	\$200.00	\$3,000.00
25	734.6001	Temporary Vehicle Tracking Control	Each	2	850.00	\$ 1,700.00	\$806.25	\$1,612.50	\$825.00	\$1,650.00	\$830.00	\$1,660.00
26	734.6006	Concrete Washout Area	Each	1	450.00		\$510.63	\$510.63	\$525.00	\$525.00	\$285.00	\$285.00
27	100.0020	Clear and Grub Tree	Each	15	\$ 50.00	\$ 750.00	\$532.13	\$7,981.95	\$545.00	\$8,175.00	\$640.00	\$9,600.00
28	100.0100	Clearing	LS	1	6,666.00		\$1,400.00	\$1,400.00	\$1,375.00	\$1,375.00	\$2,900.00	\$2,900.00
29	110.0300	Remove Concrete Curb and Gutter	Ft	120	6.25	\$ 750.00	\$9.75	\$1,170.00	\$10.00	\$1,200.00	\$4.00	\$480.00
30	110.0605	Remove Chain Link Fence	Ft	67	\$ 5.20	\$ 348.40	\$8.75	\$586.25	\$9.00	\$603.00	\$9.00	\$603.00
31	110.1010	Remove Asphalt Concrete Pavement	SqYd	257	4.00	\$ 1,028.00	\$7.30	\$1,876.10	\$7.50	\$1,927.50	\$5.50	\$1,413.50
32	110.1100	Remove Concrete Pavement	SqYd	174	6.00		\$8.33	\$1,449.42	\$8.75	\$1,522.50	\$25.00	\$4,350.00
33	110.1130	Remove Concrete Driveway Pavement	SqYd	364	\$ 5.65	\$ 2,056.60	\$8.33	\$3,032.12	\$8.75	\$3,185.00	\$15.00	\$5,460.00
34	110.1140	Remove Concrete Sidewalk	SqYd	31	\$ 8.75	\$ 271.25	\$7.53	\$233.43	\$8.00	\$248.00	\$25.00	\$775.00
35	Special	Remove Retaining Wall	Ft	123	\$ 12.50	\$ 1,537.50	\$9.67	\$1,189.41	\$10.00	\$1,230.00	\$7.50	\$922.50
36	110.5021	Salvage Traffic Sign for Reset	Each	10	21.25	\$ 212.50	\$10.75	\$107.50	\$15.00	\$150.00	\$23.00	\$230.00
37	110.8100	Saw Existing Asphalt	LFt	73	\$ 4.00	\$ 292.00	\$5.10	\$372.30	\$5.25	\$383.25	\$5.15	\$375.95
38	110.8110	Saw Existing PCC Pavement	LFt	206	7.00	\$ 1,442.00	\$6.99	\$1,439.94	\$7.25	\$1,493.50	\$14.10	\$2,904.60
39	999.0020	Remove and Reset Neighborhood Mailbox	Each	1	\$ 1,000.00	\$ 1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$870.00	\$870.00
40	999.0021	Remove and Reset Mailbox and Post	Each	4	\$ 212.00	\$ 848.00	\$161.25	\$645.00	\$175.00	\$700.00	\$230.00	\$920.00
41	999.0023	Temporary Mailbox	Each	5	\$ 238.50	\$ 1,192.50	\$53.75	\$268.75	\$75.00	\$375.00	\$260.00	\$1,300.00
42	110.0400	Remove Drop Inlet	Each	2	\$ 200.00	\$ 400.00	\$1,000.00	\$2,000.00	\$500.00	\$1,000.00	\$820.00	\$1,640.00
43	110.0500	Remove Pipe Culvert	Ft	197	\$ 8.00	\$ 1,576.00	\$12.00	\$2,364.00	\$9.00	\$1,773.00	\$7.40	\$1,457.80
44	110.0530	Remove Storm Sewer Pipe	Ft	56	\$ 12.00	\$ 672.00	\$12.00	\$672.00	\$10.00	\$560.00	\$19.65	\$1,100.40
45	Special	Pipe Connection to Existing Structure	Each	1	\$ 1,340.00	\$ 1,340.00	\$20.00	\$20.00	\$3,500.00	\$3,500.00	\$1,635.00	\$1,635.00
46	450.0123	18" RCP Class 3, Furnish	Ft	106	36.70	\$ 3,890.20	\$35.50	\$3,763.00	\$40.00	\$4,240.00	\$46.45	\$4,923.70
47	450.0130	18" RCP, Install	Ft	106	\$ 41.00	\$ 4,346.00	\$35.50	\$3,763.00	\$35.00	\$3,710.00	\$44.00	\$4,664.00
48	450.0143	24" RCP Class 3, Furnish	Ft	405	\$ 52.95	\$ 21,444.75	\$53.50	\$21,667.50	\$55.00	\$22,275.00	\$67.00	\$27,135.00
49	450.0150	24" RCP, Install	Ft	405	\$ 52.65	\$ 21,323.25	\$53.50	\$21,667.50	\$45.00	\$18,225.00	\$58.50	\$23,692.50
50	462.0100	Class M6 Concrete	CuYd	4.8	\$ 1,590.00	\$ 7,632.00	\$1,612.50	\$7,740.00	\$1,650.00	\$7,920.00	\$1,715.00	\$8,232.00
51	480.0100	Reinforcing Steel	Lb	410	\$ 2.80	\$ 1,148.00	\$5.38	\$2,205.80	\$5.50	\$2,255.00	\$3.05	\$1,250.50
52	670.1240	Type B Frame and Grate Assembly - Right & Left Flange	Each	2	\$ 1,538.00	\$ 3,076.00	\$833.10	\$1,666.20	\$865.00	\$1,730.00	\$1,660.00	\$3,320.00

Project: IMPROVEMENTS Location: KLEIN AVENUE

A/E Firm: STOCKWELL ENGINEERS, INC. Address: 801 N. PHILLIPS AVENUE, SUITE 100

City/State/Zip: SIOUX FALLS, SD 57104 Phone No.: 605.338.6668

Value of OFM: \$

Bid Estimate: \$810,000.00 Budget: \$ 990,997.00 Letting Date:

Time:

12/07/23 2:15 PM

Bidder: Inc. Address: PO Box 89106 City/State/Zip: Sioux Falls, SD 57109 City/State/Zip: Tea, SD 57064 Phone No.: 605.332.5282

Soukup Construction,

Backhaus Excavation Bidder: and Underground, LLC Address: PO Box 310 Phone No.: 605.929.0012

Bidder: Connections Address: PO Box 98 City/State/Zip: Harrisburg, SD 57032 Phone No.: 605.231.6441

Underground

Asphalt Surfacing Bidder: Company Address: 1205 W. Russell Street City/State/Zip: Sioux Falls, SD 57104 Phone No.: 605.338.4921

17,738.13

Item	Std. Bid Item No.	Description	Unit	Quantity		Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
No. 1	670.1300	Type Area Inlet Frame and Grate Assembly	Each	Quantity 2	_			\$645.00	\$1,290.00	\$660.00	\$1,320.00	\$745.00	\$1.490.00
54	110.1970	Remove Water Main	Ft	124	\$			\$10.00	\$1,240.00	\$8.00	\$992.00	\$19.65	\$2,436.60
55	900.0200	4" C900 DR 18 PVC Water Main	Ft	68	\$			\$35.00	\$2,380.00	\$45.50	\$3,094.00	\$48.00	\$3,264.00
56	Special	Install City Furnished 8" C900 DR 18 PVC Water Main	Ft	554	\$			\$35.00	\$19,390.00	\$40.00	\$22,160.00	\$30.00	\$16,620.00
57	Special	Install City Furnished 8" MJ Gate Valve with Box	Each	2	\$			\$1,000.00	\$2,000.00	\$750.00	\$1,500.00	\$250.00	\$500.00
58	Special	Install City Furnished 4" MJ Elbow 90 Degree	Each	2	\$	302.00	\$ 604.00	\$250.00	\$500.00	\$500.00	\$1,000.00	\$250.00	\$500.00
	•	,		_									
59	Special	Install City Furnished 8" MJ Elbow 11.25/22.5/45 Degree	Each	4	\$	460.60	\$ 1,842.40	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$205.00	\$820.00
60	Special	Install City Furnished 8"x4" MJ Tee	Each	2	\$	460.60	\$ 921.20	\$500.00	\$1,000.00	\$750.00	\$1,500.00	\$205.00	\$410.00
61	900.0905	8" x 8" MJ Cross	Each	1	\$	820.00	\$ 820.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$900.00	\$900.00
62	Special	Install City Furnished 8" MJ Cap	Each	2	\$	224.75	\$ 449.50	\$500.00	\$1,000.00	\$400.00	\$800.00	\$165.00	\$330.00
63	Special	Install City Furnished 8" MJ Long Sleeve	Each	2	\$	450.00	\$ 900.00	\$200.00	\$400.00	\$500.00	\$1,000.00	\$165.00	\$330.00
64	Special	Install City Furnished 4" M.J. Retainer Gland	Each	8	\$	90.00	\$ 720.00	\$40.00	\$320.00	\$200.00	\$1,600.00	\$200.00	\$1,600.00
65	Special	Install City Furnished 8" M.J. Retainer Gland	Each	26	\$			\$50.00	\$1,300.00	\$250.00	\$6,500.00	\$215.00	\$5,590.00
66	900.1507	Temporary Fire Hydrant	Each	3	\$			\$1,000.00	\$3,000.00	\$1,250.00	\$3,750.00	\$370.00	\$1,110.00
67	900.1750	Connect To Existing Water Main	Each	2	\$			\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$1,310.00	\$2,620.00
68	Special	4"x2-1/2" Water Connection	Each	2	\$	1,510.00		\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$875.00	\$1,750.00
69	900.3000	Water Service Disconnect	Each	1	\$			\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$985.00	\$985.00
70	900.3020	Water Service Reconnect, 1-1/4" Service	Each	1	\$			\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$345.00	\$345.00
71	900.3125	8" x 1-1/4" Water Service Tap	Each	1	\$			\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$1,100.00	\$1,100.00
72	900.3210	1-1/4" Water Service Curb Stop	Each	1	\$			\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$1,110.00	\$1,110.00
73 74	900.3510	1-1/4" PEXa Water Service Piping	Ft	43 80	\$			\$20.00	\$860.00	\$55.00	\$2,365.00	\$51.25	\$2,203.75
74 75	900.4000	Water Main Insulation	Ft	80 68	\$ \$			\$20.00	\$1,600.00	\$20.00 \$5.00	\$1,600.00	\$26.20 \$8.50	\$2,096.00
76	900.8000 900.8002	4" Water Main Bedding Material	Ft Ft	554	\$			\$5.00	\$340.00		\$340.00		\$578.00
77	900.8002	8" Water Main Bedding Material Water Service Bedding Material	Ft Ft	43	\$			\$6.00 \$6.00	\$3,324.00 \$258.00	\$6.00 \$5.00	\$3,324.00 \$215.00	\$9.65 \$8.00	\$5,346.10 \$344.00
78	110.1461	Remove Sanitary Sewer Manhole	Each	43				\$1,000.00	\$2,000.00	\$5.00	\$215.00	\$1,555.00	\$3,110.00
79	110.0520	Remove Sewer Pipe	Ft	651	\$			\$3.00	\$1,953.00	\$8.00	\$5,208.00	\$1,555.00	\$8,528.10
80	950.0102	8" Sanitary Sewer Pipe 8' to 10' Deep	Ft	42				\$50.00	\$2,100.00	\$55.00	\$2,310.00	\$64.00	\$2,688.00
81	950.0104	8" Sanitary Sewer Pipe 12' to 14' Deep	Ft	535	\$			\$57.00	\$30,495.00	\$60.00	\$32,100.00	\$73.00	\$39,055.00
82	950.0105	8" Sanitary Sewer Pipe 14' to 16' Deep	Ft	74	\$			\$65.00	\$4,810.00	\$65.00	\$4,810.00	\$87.00	\$6,438.00
83	950.2000	8" Sanitary Sewer Pipe Bedding Material	Ft	651	\$			\$11.00	\$7,161.00	\$8.00	\$5,208.00	\$13.30	\$8,658.30
84	950.3002	8"X 4" Sewer Wye/Tap	Each	4	\$			\$500.00	\$2,000.00	\$250.00	\$1,000.00	\$245.25	\$981.00
85	950.3102	8" Sewer Couplings	Each	3	\$			\$250.00	\$750.00	\$250.00	\$750.00	\$265.00	\$795.00
86	950.4004	48" Manhole 12'-14' Deep	Each	1	\$	8,280.00	\$ 8,280.00	\$9,000.00	\$9,000.00	\$5,700.00	\$5,700.00	\$8,550.00	\$8,550.00
87	950.4005	48" Manhole 14'-16' Deep	Each	1	\$	8,760.00	\$ 8,760.00	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00	\$9,450.00	\$9,450.00
88	950.4700	Manhole Drop Section	Each	1	\$	1,445.00	\$ 1,445.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$1,725.00	\$1,725.00
89	950.4802	8" Boots For Manhole	Each	6	\$	287.00	\$ 1,722.00	\$250.00	\$1,500.00	\$200.00	\$1,200.00	\$350.00	\$2,100.00
90	950.4910	Reconnect Sewer Service	Each	4	\$	1,275.00	\$ 5,100.00	\$1,500.00	\$6,000.00	\$750.00	\$3,000.00	\$1,200.00	\$4,800.00
91	950.4950	4" Sanitary Sewer Service	Ft	132	\$	33.50	\$ 4,422.00	\$40.00	\$5,280.00	\$45.00	\$5,940.00	\$43.00	\$5,676.00
92	950.5250	Sanitary Sewer Temporary Bypass	LS	1			\$ 5,716.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$1.00	\$1.00
93	950.5300	Manhole Frame and Cover	Each	2				\$800.00	\$1,600.00	\$1,000.00	\$2,000.00	\$1,275.00	\$2,550.00
94	950.5410	Temporary Manhole Construction Frame and Cover	Each	5	\$			\$250.00	\$1,250.00	\$500.00	\$2,500.00	\$450.00	\$2,250.00
95	950.5600	Manhole Exfiltration\Vacuum Test	Each	2				\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$575.00	\$1,150.00
96	950.5620	PVC Sewer Pipe Deflection Test	Ft	651				\$2.00	\$1,302.00	\$2.00	\$1,302.00	\$1.25	\$813.75
97	120.0010	Unclassified Excavation	CuYd					\$8.00	\$24,528.00	\$7.00	\$21,462.00	\$13.00	\$39,858.00
98	120.0100	Unclassified Excavation, Digouts	CuYd	100				\$15.05	\$1,505.00	\$16.00	\$1,600.00	\$28.00	\$2,800.00
99	Special	Sump Pump Collection Stub	Each	4	\$			\$1,500.00	\$6,000.00	\$500.00	\$2,000.00	\$655.00	\$2,620.00
100	Special	PVC Sump Pump Collector	Ft	406	\$			\$32.00	\$12,992.00	\$35.00	\$14,210.00	\$40.70	\$16,524.20
101	831.0050	Geotextile Fabric For Subgrade Stabilization	SqYd	2765				\$4.03	\$11,142.95	\$4.00	\$11,060.00	\$2.55	\$7,050.75
102	230.0020	Placing Contractor Furnished Topsoil	CuYd	485	\$			\$37.95	\$18,405.75	\$40.00	\$19,400.00	\$34.25	\$16,611.25
103	120.6200	Water For Granular Material	MGal	30	\$			\$10.70	\$321.00	\$25.00	\$750.00	\$7.50	\$225.00
104	260.1010	Aggregate Base Course	Ton	1970	\$	25.25	\$ 49,742.50	\$24.45	\$48,166.50	\$20.00	\$39,400.00	\$24.00	\$47,280.00

Project: IMPROVEMENTS Location: KLEIN AVENUE

A/E Firm: STOCKWELL ENGINEERS, INC. Address: 801 N. PHILLIPS AVENUE, SUITE 100

Value of OFM: \$

City/State/Zip: SIOUX FALLS, SD 57104

Bid Estimate: \$810,000.00 Budget: \$990,997.00 Letting Date: 12/07/23

Bidder: Inc. Address: PO Box 89106 City/State/Zip: Sioux Falls, SD 57109 City/State/Zip: Tea, SD 57064

Soukup Construction,

Backhaus Excavation Bidder: and Underground, LLC Address: PO Box 310

Underground Bidder: Connections Address: PO Box 98 City/State/Zip: Harrisburg, SD 57032

Asphalt Surfacing Bidder: Company Address: 1205 W. Russell Street City/State/Zip: Sioux Falls, SD 57104 Phone No.: 605.338.4921

3

Phone No.: 605.338.6668 Time: 2:15 PM Phone No.: 605.332.5282 Phone No.: 605.929.0012 Phone No.: 605.231.6441 17,738.13

Item No. St	td. Bid Item No.	Description	Unit	Quantity	Uı	nit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
105	260.3010	Gravel Surfacing	Ton	495	\$	25.25	\$ 12,498.75	\$31.28	\$15,483.60	\$20.00	\$9,900.00	\$37.00	\$18,315.00
106	320.1215	Asphalt Concrete Composite, PG58-34 (Polymer Modified)	Ton	585	\$	132.00	\$ 77,220.00	\$146.04	\$85,433.40	\$137.00	\$80,145.00	\$130.00	\$76,050.00
107	380.0070	9" NonreinForced PCC Pavement	SqYd	175	\$	116.60	\$ 20,405.00	\$104.00	\$18,200.00	\$106.50	\$18,637.50	\$125.55	\$21,971.25
108	380.3020	6" PCC Driveway Pavement	SqYd	243	\$	72.10	\$ 17,520.30	\$78.30	\$19,026.90	\$81.00	\$19,683.00	\$78.00	\$18,954.00
109	380.3520	6" PCC Approach Pavement	SqYd	88	\$	72.10	\$ 6,344.80	\$78.60	\$6,916.80	\$81.00	\$7,128.00	\$78.00	\$6,864.00
110	380.4010	6" PCC Fillet Section	SqYd	85	\$	109.20	\$ 9,282.00	\$113.31	\$9,631.35	\$116.00	\$9,860.00	\$120.00	\$10,200.00
111	380.6000	Dowel Bar	Each	95	\$	21.20	\$ 2,014.00	\$24.20	\$2,299.00	\$25.00	\$2,375.00	\$23.00	\$2,185.00
112	380.6115	Insert Steel Bar in Concrete Pavement, No. 5	Each	24	\$	19.10	\$ 458.40	\$26.88	\$645.12	\$27.50	\$660.00	\$21.00	\$504.00
113	650.7000	Concrete Curb & Gutter Type SF66	Ft	936	\$	20.55	\$ 19,234.80	\$24.85	\$23,259.60	\$25.50	\$23,868.00	\$22.20	\$20,779.20
114	650.8000	Concrete Valley Gutter 6" Thick	SqYd	50	\$	109.20	\$ 5,460.00	\$113.31	\$5,665.50	\$116.00	\$5,800.00	\$120.00	\$6,000.00
115	651.0040	4" Concrete Sidewalk	SqFt	3770	\$	6.80	\$ 25,636.00	\$6.72	\$25,334.40	\$6.90	\$26,013.00	\$7.50	\$28,275.00
116	651.0060	6" Concrete Sidewalk	SqFt	828	\$	8.50	\$ 7,038.00	\$7.90	\$6,541.20	\$8.10	\$6,706.80	\$9.15	\$7,576.20
117	651.0860	6" Accessible Curb Ramp Sidewalk	SqFt	805	\$	12.10	\$ 9,740.50	\$13.12	\$10,561.60	\$13.45	\$10,827.25	\$13.10	\$10,545.50
118	651.6030	Type B Detectable Warnings	SqFt	80	\$	68.90	\$ 5,512.00	\$60.00	\$4,800.00	\$60.50	\$4,840.00	\$75.00	\$6,000.00
119	670.6010	S.F. Type Storm Sewer Inlet Apron Repair	SY	6	\$	79.50	\$ 477.00	\$152.87	\$917.22	\$156.50	\$939.00	\$86.00	\$516.00
120	671.0100	Adjust Junction Box	Each	1	\$	550.00	\$ 550.00	\$1,075.00	\$1,075.00	\$1,500.00	\$1,500.00	\$950.00	\$950.00
121	900.0450	Valve Box Adjustment	Each	8	\$	160.00	\$ 1,280.00	\$241.88	\$1,935.04	\$200.00	\$1,600.00	\$230.00	\$1,840.00
122	900.0452	Valve Box Replacement	Each	4	\$	1,250.00	\$ 5,000.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$410.00	\$1,640.00
123	950.5000	Adjust Manhole	Each	3	\$	850.00	\$ 2,550.00	\$1,048.13	\$3,144.39	\$900.00	\$2,700.00	\$950.00	\$2,850.00
124	632.1320	2.0"x2.0" Perforated Tube Post	Ft	17.5	\$	21.20	\$ 371.00	\$18.28	\$319.90	\$19.00	\$332.50	\$23.00	\$402.50
125	632.1330	2.25"x2.25" Perforated Tube Post	Ft	7	\$	23.35	\$ 163.45	\$19.35	\$135.45	\$20.00	\$140.00	\$25.20	\$176.40
126	632.1340	2.5"x2.5" Perforated Tube Post	Ft	3	\$	25.45	\$ 76.35	\$17.20	\$51.60	\$18.00	\$54.00	\$27.50	\$82.50
127	632.3050	Furnish Sheet Aluminum Sign with Reflective Sheeting	SqFt	20	\$	15.90	\$ 318.00	\$32.25	\$645.00	\$33.00	\$660.00	\$17.25	\$345.00
128	632.3060	Install Traffic Sign on Post	Each	6	\$	10.60	\$ 63.60	\$53.75	\$322.50	\$55.00	\$330.00	\$11.50	\$69.00
129	Special	Reset Traffic Sign	Each	5	\$	31.80		\$53.75	\$268.75	\$55.00	\$275.00	\$34.50	\$172.50
130	250.0015	Incidental Work, Lighting	LS	1	\$	1,724.50	\$ 1,724.50	\$1,290.00	\$1,290.00	\$180.00	\$180.00	\$1,865.00	\$1,865.00
131	635.4020	2' Diameter Footing	Ft	15	\$	178.00		\$295.63	\$4,434.45	\$340.00	\$5,100.00	\$195.00	\$2,925.00
132	635.4630	Tie To Existing Luminaire Pole Base	Each	1	\$	191.65	\$ 191.65	\$247.25	\$247.25	\$190.00	\$190.00	\$210.00	\$210.00
133	635.4800	Conduit Boring	Ft	80	\$	17.90	\$ 1,432.00	\$49.45	\$3,956.00	\$30.00	\$2,400.00	\$19.30	\$1,544.00
	635.5420	Breakaway Base Luminaire Pole with 8' Arm, 20'	Each	3									
134	035.5420	Mounting Height	EdCII	3	\$	4,340.00	\$ 13,020.00	\$4,891.25	\$14,673.75	\$5,500.00	\$16,500.00	\$4,700.00	\$14,100.00
135	635.6000	LED Luminaire Class 4K	Each	3	\$	500.00	\$ 1,500.00	\$591.25	\$1,773.75	\$620.00	\$1,860.00	\$540.00	\$1,620.00
136	635.8020	2" Rigid Conduit, Schedule 40	Ft	546	\$	7.15	\$ 3,903.90	\$7.10	\$3,876.60	\$12.75	\$6,961.50	\$7.70	\$4,204.20
137	635.8120	2" Rigid Conduit, Schedule 80	Ft	52	\$	9.25	\$ 481.00	\$9.35	\$486.20	\$9.50	\$494.00	\$10.00	\$520.00
138	635.8200	2/2/2/4 AWG Aluminum Wire	Ft	630	\$	3.25	\$ 2,047.50	\$2.90	\$1,827.00	\$4.25	\$2,677.50	\$3.55	\$2,236.50
139	635.8500	UF 14/2 Luminaire Wire	Ft	105	\$	1.05	\$ 110.25	\$0.80	\$84.00	\$1.75	\$183.75	\$1.20	\$126.00
						Total Bid	\$ 717,777.17	Total Bid	\$ 749,430.18	Total Bid	\$ 777,905.06	Total Bid	\$ 815,629.21

Project: IMPROVEMENTS Location: KLEIN AVENUE

A/E Firm: STOCKWELL ENGINEERS, INC. Address: 801 N. PHILLIPS AVENUE, SUITE 100

City/State/Zip: SIOUX FALLS, SD 57104 Phone No.: 605.338.6668

Alliance Construction,

Bid Estimate: \$810,000.00 Bidder: LLC Budget: \$ 990,997.00 Address: PO Box 88136 Letting Date:

12/07/23 City/State/Zip: Sioux Falls, SD 57109 Phone No.: 605.310.2495 2:15 PM

Bidder: First Rate Excavate, Inc. Address: 1509 E. 39th St. N. City/State/Zip: Sioux Falls, SD 57104 Phone No.: 605.331.5626

Address: 27070 Duke Avenue City/State/Zip: Tea, SD 57064 Phone No.: 605.368.2253

LT Companies, Inc. dba

Bidder: Parkway Construction

Bidder: 605 Companies, Inc. Address: 700 E. 65th Street N City/State/Zip: Sioux Falls, SD 57104 Phone No.: 605.251.3185

4

Time: Value of OFM: \$ 17,738.13

Item No.	Std. Bid Item No.	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	9.0010	Mobilization	LS	1	\$77,600.00	\$77,600.00	\$92,500.00	\$92,500.00	\$99,686.82	\$99,686.82	\$150,000.00	\$150,000.00
2	9.0550	Tax on City Furnished Materials	LS	1	\$1,099.76	\$1,099.76	\$1,099.76	\$1,099.76	\$1,099.76	\$1,099.76	\$1,099.76	\$1,099.76
3	250.0020	Incidental Work, Grading	LS	1	\$13,000.00	\$13,000.00	\$8,000.00	\$8,000.00	\$10,260.00	\$10,260.00	\$23,500.00	\$23,500.00
4	950.5700	Locating Utility	Each	5	\$400.00	\$2,000.00	\$150.00	\$750.00	\$270.00	\$1,350.00	\$550.00	\$2,750.00
5	950.5710	Verify Utility	Each	30	\$400.00	\$12,000.00	\$150.00	\$4,500.00	\$337.50	\$10,125.00	\$550.00	\$16,500.00
6	634.0110	Traffic Control	SqFt	187.5	\$4.20	\$787.50	\$4.40	\$825.00	\$5.40	\$1,012.50	\$4.75	\$890.63
7	634.0120	Traffic Control, Miscellaneous	LS	1	\$4,000.00	\$4,000.00	\$7,150.00	\$7,150.00	\$3,645.00	\$3,645.00	\$3,200.00	\$3,200.00
8	634.0285	Type 3 Barricade, 8' Double Sided	Each	16	\$105.00	\$1,680.00	\$110.00	\$1,760.00	\$135.00	\$2,160.00	\$125.00	\$2,000.00
9	634.0420	Type C Advance Warning Arrow Panel	Each	1	\$790.00	\$790.00	\$990.00	\$990.00	\$1,012.50	\$1,012.50	\$1,000.00	\$1,000.00
10	634.1215	Contractor Furnished Portable Changeable Message Sign	Each	1	\$630.00	\$630.00	\$550.00	\$550.00	\$810.00	\$810.00	\$750.00	\$750.00
11	634.2000	Longitudinal Pedestrian Barricade	Ft	28	\$10.50	\$294.00	\$5.50	\$154.00	\$13.50	\$378.00	\$12.00	\$336.00
12	634.2015	Temporary Pedestrian Access Route	LS	1	\$3,200.00	\$3,200.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$9,500.00	\$9,500.00
13	120.6300	Water For Vegetation	MGal	175	\$7.50	\$1,312.50	\$5.50	\$962.50	\$6.75	\$1,181.25	\$21.00	\$3,675.00
14	730.0300	Arterial and Collector Seed Mix	Lb	42	\$21.50	\$903.00	\$11.00	\$462.00	\$13.50	\$567.00	\$26.50	\$1,113.00
15	730.0301	Quality Green Turf Mix	Lb	125	\$8.35	\$1,043.75	\$11.00	\$1,375.00	\$13.50	\$1,687.50	\$15.25	\$1,906.25
16	731.0100	Fertilizing	Lb	205	\$1.10	\$225.50	\$1.10	\$225.50	\$1.35	\$276.75	\$4.25	\$871.25
17	731.0200	Weed Control	Sq Yd	2890	\$0.05	\$144.50	\$0.06	\$173.40	\$0.07	\$202.30	\$1.25	\$3,612.50
18	731.0210	Weed Control - Project	LS	1	\$420.00	\$420.00	\$440.00	\$440.00	\$540.00	\$540.00	\$3,500.00	\$3,500.00
19	732.0200	Fiber Mulching	Ton	0.98	\$1,560.00	\$1,528.80	\$1,320.00	\$1,293.60	\$1,620.00	\$1,587.60	\$3,000.00	\$2,940.00
20	734.0105	Erosion Control Blanket	SqYd	560	\$2.00	\$1,120.00	\$1.71	\$957.60	\$2.09	\$1,170.40	\$3.00	\$1,680.00
21	734.0601	Silt Fence	Ft	96	\$5.50	\$528.00	\$1.10	\$105.60	\$1.35	\$129.60	\$3.50	\$336.00
22	110.1700	Remove Silt Fence	Ft	96	\$1.10	\$105.60	\$0.55	\$52.80	\$1.35	\$129.60	\$1.25	\$120.00
23	734.0850	Inlet Protection	Each	9	\$150.00	\$1,350.00	\$93.50	\$841.50	\$114.75	\$1,032.75	\$175.00	\$1,575.00
24	734.5010	Sweeping	Hour	15	\$125.00	\$1,875.00	\$85.00	\$1,275.00	\$135.00	\$2,025.00	\$150.00	\$2,250.00
25	734.6001	Temporary Vehicle Tracking Control	Each	2	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00	\$810.00	\$1,620.00	\$1,000.00	\$2,000.00
26	734.6006	Concrete Washout Area	Each	1	\$600.00	\$600.00	\$800.00	\$800.00	\$405.00	\$405.00	\$650.00	\$650.00
27	100.0020	Clear and Grub Tree	Each	15	\$300.00	\$4,500.00	\$500.00	\$7,500.00	\$337.50	\$5,062.50	\$450.00	\$6,750.00
28	100.0100	Clearing	LS	1	\$2,500.00	\$2,500.00	\$15,000.00	\$15,000.00	\$1,350.00	\$1,350.00	\$2,500.00	\$2,500.00
29	110.0300	Remove Concrete Curb and Gutter	Ft	120	\$5.00	\$600.00	\$25.00	\$3,000.00	\$4.05	\$486.00	\$3.50	\$420.00
30	110.0605	Remove Chain Link Fence	Ft	67	\$4.00	\$268.00	\$15.00	\$1,005.00	\$4.05	\$271.35	\$20.50	\$1,373.50
31	110.1010	Remove Asphalt Concrete Pavement	SqYd	257	\$4.00	\$1,028.00	\$5.00	\$1,285.00	\$4.05	\$1,040.85	\$4.00	\$1,028.00
32	110.1100	Remove Concrete Pavement	SqYd	174	\$9.00	\$1,566.00	\$25.00	\$4,350.00	\$8.78	\$1,527.72	\$5.75	\$1,000.50
33	110.1130	Remove Concrete Driveway Pavement	SqYd	364	\$7.00	\$2,548.00	\$25.00	\$9,100.00	\$8.78	\$3,195.92	\$7.50	\$2,730.00
34	110.1140	Remove Concrete Sidewalk	SqYd	31	\$5.00	\$155.00	\$20.00	\$620.00	\$8.10	\$251.10	\$6.50	\$201.50
35	Special	Remove Retaining Wall	Ft	123	\$4.00	\$492.00	\$20.00	\$2,460.00	\$4.05	\$498.15	\$5.00	\$615.00
36	110.5021	Salvage Traffic Sign for Reset	Each	10	\$22.00	\$220.00	\$10.10	\$101.00	\$27.00	\$270.00	\$23.50	\$235.00
37	110.8100	Saw Existing Asphalt	LFt	73	\$5.50	\$401.50	\$8.80	\$642.40	\$6.08	\$443.84	\$5.50	\$401.50
38	110.8110	Saw Existing PCC Pavement	LFt	206	\$15.00	\$3,090.00	\$16.50	\$3,399.00	\$16.67	\$3,434.02	\$14.50	\$2,987.00
39	999.0020	Remove and Reset Neighborhood Mailbox	Each	1	\$900.00	\$900.00	\$500.00	\$500.00	\$270.00	\$270.00	\$1,250.00	\$1,250.00
40	999.0021	Remove and Reset Mailbox and Post	Each	4	\$215.00	\$860.00	\$165.00	\$660.00	\$270.00	\$1,080.00	\$235.00	\$940.00
41	999.0023	Temporary Mailbox	Each	5	\$240.00	\$1,200.00	\$55.00	\$275.00	\$303.75	\$1,518.75	\$265.00	\$1,325.00
42	110.0400	Remove Drop Inlet	Each	2	\$300.00	\$600.00	\$2,000.00	\$4,000.00	\$675.00	\$1,350.00	\$925.00	\$1,850.00
43	110.0500	Remove Pipe Culvert	Ft	197	\$13.00	\$2,561.00	\$10.00	\$1,970.00	\$6.08	\$1,197.76	\$10.50	\$2,068.50
44	110.0530	Remove Storm Sewer Pipe	Ft	56	\$15.00	\$840.00	\$10.00	\$560.00	\$16.20	\$907.20	\$11.50	\$644.00
45	Special	Pipe Connection to Existing Structure	Each	1	\$1,400.00	\$1,400.00	\$1,500.00	\$1,500.00	\$1,350.00	\$1,350.00	\$1,000.00	\$1,000.00
46	450.0123	18" RCP Class 3, Furnish	Ft	106	\$40.00	\$4,240.00	\$34.72	\$3,680.32	\$38.30	\$4,059.80	\$39.50	\$4,187.00
47	450.0130	18" RCP, Install	Ft	106	\$40.00	\$4,240.00	\$33.00	\$3,498.00	\$36.25	\$3,842.50	\$48.25	\$5,114.50
48	450.0143	24" RCP Class 3, Furnish	Ft	405	\$62.00	\$25,110.00	\$52.56	\$21,286.80	\$55.16	\$22,339.80	\$60.00	\$24,300.00
49	450.0150	24" RCP, Install	Ft	405	\$50.00	\$20,250.00	\$43.00	\$17,415.00	\$48.23	\$19,533.15	\$48.25	\$19,541.25
50	462.0100	Class M6 Concrete	CuYd	4.8	\$1,850.00	\$8,880.00	\$1,650.00	\$7,920.00	\$1,755.00	\$8,424.00	\$1,750.00	\$8,400.00
51	480.0100	Reinforcing Steel	Lb	410	\$2.80	\$1,148.00	\$2.92	\$1,197.20	\$3.58	\$1,467.80	\$3.25	\$1,332.50
52	670.1240	Type B Frame and Grate Assembly - Right & Left Flange	Each	2	\$1,530.00	\$3,060.00	\$2,541.95	\$5,083.90	\$1,957.50	\$3,915.00	\$1,700.00	\$3,400.00

5

Project: IMPROVEMENTS Location: KLEIN AVENUE

A/E Firm: STOCKWELL ENGINEERS, INC. Address: 801 N. PHILLIPS AVENUE, SUITE 100

KLEIN AVENUE STREET & UTILITY

City/State/Zip: SIOUX FALLS, SD 57104

Phone No.: 605.338.6668

Alliance Construction, Bid Estimate: \$810,000.00 Bidder: LLC

Budget: \$ 990,997.00 Letting Date:

Address: PO Box 88136 12/07/23 City/State/Zip: Sioux Falls, SD 57109 Phone No.: 605.310.2495

Bidder: First Rate Excavate, Inc. Address: 1509 E. 39th St. N. City/State/Zip: Sioux Falls, SD 57104 Phone No.: 605.331.5626

Bidder: Parkway Construction Address: 27070 Duke Avenue City/State/Zip: Tea, SD 57064

LT Companies, Inc. dba

Bidder: 605 Companies, Inc. Address: 700 E. 65th Street N City/State/Zip: Sioux Falls, SD 57104

Time: 2:15 PM Value of OFM: \$ 17,738.13

Phone No.: 605.251.3185 Phone No.: 605.368.2253

Item No.	Std. Bid Item No.	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
53		Type Area Inlet Frame and Grate Assembly	Each	2	\$690.00	\$1,380.00	\$1,563.36	\$3,126.72	\$877.50	\$1,755.00	\$750.00	\$1,500.00
54		Remove Water Main	Ft	124	\$15.00	\$1,860.00	\$10.00	\$1,240.00	\$16.20	\$2,008.80	\$10.25	\$1,271.00
55		4" C900 DR 18 PVC Water Main	Ft	68	\$51.00	\$3,468.00	\$31.08	\$2,113.44	\$39.64	\$2,695.52	\$25.50	\$1,734.00
56		Install City Furnished 8" C900 DR 18 PVC Water Main	Ft	554	\$44.00	\$24,376.00	\$34.31	\$19,007.74	\$24.73	\$13,700.42	\$24.00	\$13,296.00
57		Install City Furnished 8" MJ Gate Valve with Box	Each	2	\$400.00	\$800.00	\$425.00	\$850.00	\$202.50	\$405.00	\$325.00	\$650.00
58	Special	Install City Furnished 4" MJ Elbow 90 Degree	Each	2	\$1,200.00	\$2,400.00	\$200.00	\$400.00	\$202.50	\$405.00	\$150.00	\$300.00
59	Special	Install City Furnished 8" MJ Elbow 11.25/22.5/45 Degree	Each	4	\$400.00	\$1,600.00	\$200.00	\$800.00	\$168.75	\$675.00	\$150.00	\$600.00
60		Install City Furnished 8"x4" MJ Tee	Each	2	\$450.00	\$900.00	\$270.00	\$540.00	\$168.75	\$337.50	\$175.00	\$350.00
61		8" x 8" MJ Cross	Each	1	\$1,800.00	\$1,800.00	\$679.95	\$679.95	\$738.17	\$738.17	\$1,000.00	\$1,000.00
62		Install City Furnished 8" MJ Cap	Each	2	\$300.00	\$600.00	\$175.00	\$350.00	\$135.00	\$270.00	\$150.00	\$300.00
63	- 1	Install City Furnished 8" MJ Long Sleeve	Each	2	\$1,100.00	\$2,200.00	\$270.00	\$540.00	\$135.00	\$270.00	\$150.00	\$300.00
64	орсски.	Install City Furnished 4" M.J. Retainer Gland	Each	8	\$120.00	\$960.00	\$100.00	\$800.00	\$165.05	\$1,320.40	\$125.00	\$1,000.00
65		Install City Furnished 8" M.J. Retainer Gland	Each	26	\$140.00	\$3,640.00	\$120.00	\$3,120.00	\$176.20	\$4,581.20	\$125.00	\$3,250.00
66		Temporary Fire Hydrant	Each	3	\$4,000.00	\$12,000.00	\$5,370.47	\$16,111.41	\$303.75	\$911.25	\$5,500.00	\$16,500.00
67	500.1750	Connect To Existing Water Main	Each	2	\$1,600.00	\$3,200.00	\$850.00	\$1,700.00	\$1,080.00	\$2,160.00	\$1,250.00	\$2,500.00
68		4"x2-1/2" Water Connection	Each	2	\$1,000.00	\$2,000.00	\$1,413.22	\$2,826.44	\$719.78	\$1,439.56	\$1,250.00	\$2,500.00
69		Water Service Disconnect	Each	1	\$600.00	\$600.00	\$500.00	\$500.00	\$810.00	\$810.00	\$650.00	\$650.00
70		Water Service Reconnect, 1-1/4" Service	Each	1	\$600.00	\$600.00	\$560.19	\$560.19	\$282.83	\$282.83	\$650.00	\$650.00
71		8" x 1-1/4" Water Service Tap	Each	1	\$1,500.00	\$1,500.00	\$831.02	\$831.02	\$901.31	\$901.31	\$1,000.00	\$1,000.00
72		1-1/4" Water Service Curb Stop	Each	1	\$500.00	\$500.00	\$814.91	\$814.91	\$913.73	\$913.73	\$500.00	\$500.00
73 74		1-1/4" PEXa Water Service Piping	Ft	43	\$45.00	\$1,935.00	\$29.88	\$1,284.84	\$42.28	\$1,818.04	\$25.00	\$1,075.00
74 75		Water Main Insulation	Ft	80	\$14.00	\$1,120.00	\$10.00	\$800.00	\$21.60	\$1,728.00	\$18.50	\$1,480.00
76		4" Water Main Bedding Material	Ft Ft	68 554	\$12.00	\$816.00	\$45.00	\$3,060.00	\$6.86	\$466.48	\$15.00	\$1,020.00
77		8" Water Main Bedding Material	Ft	43	\$16.00 \$11.00	\$8,864.00 \$473.00	\$60.97 \$41.00	\$33,777.38 \$1,763.00	\$7.96 \$6.55	\$4,409.84 \$281.65	\$15.00 \$15.00	\$8,310.00 \$645.00
78		Water Service Bedding Material Remove Sanitary Sewer Manhole	Each	43	\$700.00	\$473.00	\$1,300.00	\$2,600.00	\$1,282.50	\$2,565.00	\$850.00	\$1,700.00
79		Remove Sanitary Sewer Mannole Remove Sewer Pipe	Ft	651	\$700.00 \$14.00	\$1,400.00 \$9,114.00	\$1,300.00 \$10.00	\$2,600.00 \$6,510.00	\$1,282.50 \$10.80	\$2,565.00 \$7,030.80	\$850.00 \$13.75	\$1,700.00 \$8,951.25
80		8" Sanitary Sewer Pipe 8' to 10' Deep	Ft Ft	42	\$59.00	\$2,478.00	\$40.09	\$1,683.78	\$52.62	\$2,210.04	\$53.50	\$2,247.00
81	950.0102	8" Sanitary Sewer Pipe 12' to 14' Deep	Ft	535	\$61.00	\$32,635.00	\$43.09	\$23,053.15	\$60.23	\$32,223.05	\$56.00	\$29,960.00
82		8" Sanitary Sewer Pipe 14' to 16' Deep	Ft	74	\$67.00	\$4,958.00	\$46.09	\$3,410.66	\$71.64	\$5,301.36	\$63.00	\$4,662.00
83		8" Sanitary Sewer Pipe Bedding Material	Ft	651	\$18.00	\$11,718.00	\$13.00	\$8,463.00	\$10.96	\$7,134.96	\$15.50	\$10,090.50
84		8"X 4" Sewer Wye/Tap	Each	4	\$300.00	\$1,200.00	\$291.65	\$1,166.60	\$202.50	\$810.00	\$250.00	\$1,000.00
85		8" Sewer Couplings	Each	3	\$360.00	\$1,080.00	\$281.59	\$844.77	\$216.00	\$648.00	\$175.00	\$525.00
86		48" Manhole 12'-14' Deep	Each	1	\$6,600.00	\$6,600.00	\$5,177.75	\$5,177.75	\$7,052.09	\$7,052.09	\$7,500.00	\$7,500.00
87	950.4005	48" Manhole 14'-16' Deep	Each	1	\$7,300.00	\$7,300.00	\$5,811.23	\$5,811.23	\$7,754.92	\$7,754.92	\$8,000.00	\$8,000.00
88		Manhole Drop Section	Each	1	\$1,800.00	\$1,800.00	\$1,319.96	\$1,319.96	\$1,411.47	\$1,411.47	\$950.00	\$950.00
89		8" Boots For Manhole	Each	6	\$350.00	\$2,100.00	\$300.00	\$1,800.00	\$285.28	\$1,711.68	\$250.00	\$1,500.00
90		Reconnect Sewer Service	Each	4	\$700.00	\$2,800.00	\$642.30	\$2,569.20	\$974.23	\$3,896.92	\$250.00	\$1,000.00
91	950.4950	4" Sanitary Sewer Service	Ft	132	\$44.00	\$5,808.00	\$42.41	\$5,598.12	\$34.97	\$4,616.04	\$33.50	\$4,422.00
92	950.5250	Sanitary Sewer Temporary Bypass	LS	1	\$16,800.00	\$16,800.00	\$15,000.00	\$15,000.00	\$0.01	\$0.01	\$4,500.00	\$4,500.00
93	950.5300	Manhole Frame and Cover	Each	2	\$500.00	\$1,000.00	\$727.52	\$1,455.04	\$1,050.23	\$2,100.46	\$850.00	\$1,700.00
94	950.5410	Temporary Manhole Construction Frame and Cover	Each	5	\$400.00	\$2,000.00	\$250.00	\$1,250.00	\$371.25	\$1,856.25	\$350.00	\$1,750.00
95	950.5600	Manhole Exfiltration\Vacuum Test	Each	2	\$400.00	\$800.00	\$150.00	\$300.00	\$472.50	\$945.00	\$425.00	\$850.00
96	950.5620	PVC Sewer Pipe Deflection Test	Ft	651	\$1.80	\$1,171.80	\$1.00	\$651.00	\$1.01	\$657.51	\$1.25	\$813.75
97	120.0010	Unclassified Excavation	CuYd	3066	\$12.00	\$36,792.00	\$8.50	\$26,061.00	\$16.20	\$49,669.20	\$12.00	\$36,792.00
98		Unclassified Excavation, Digouts	CuYd	100	\$14.00	\$1,400.00	\$7.50	\$750.00	\$16.20	\$1,620.00	\$18.50	\$1,850.00
99	- 1	Sump Pump Collection Stub	Each	4	\$700.00	\$2,800.00	\$625.65	\$2,502.60	\$540.00	\$2,160.00	\$500.00	\$2,000.00
100		PVC Sump Pump Collector	Ft	406	\$37.00	\$15,022.00	\$36.36	\$14,762.16	\$33.40	\$13,560.40	\$53.00	\$21,518.00
101	831.0050	Geotextile Fabric For Subgrade Stabilization	SqYd	2765	\$3.00	\$8,295.00	\$4.30	\$11,889.50	\$4.05	\$11,198.25	\$4.50	\$12,442.50
102		Placing Contractor Furnished Topsoil	CuYd	485	\$29.00	\$14,065.00	\$45.00	\$21,825.00	\$37.13	\$18,008.05	\$41.00	\$19,885.00
103		Water For Granular Material	MGal	30	\$20.00	\$600.00	\$5.00	\$150.00	\$22.95	\$688.50	\$11.75	\$352.50
104	260.1010	Aggregate Base Course	Ton	1970	\$29.00	\$57,130.00	\$21.00	\$41,370.00	\$23.38	\$46,058.60	\$26.75	\$52,697.50

Project: IMPROVEMENTS Location: KLEIN AVENUE

A/E Firm: STOCKWELL ENGINEERS, INC.

Address: 801 N. PHILLIPS AVENUE, SUITE 100 City/State/Zip: SIOUX FALLS, SD 57104

Phone No.: 605.338.6668

Alliance Construction, Bidder: LLC

Bid Estimate: \$810,000.00 Budget: \$ 990,997.00 Letting Date:

Time:

2:15 PM

Address: PO Box 88136 12/07/23 City/State/Zip: Sioux Falls, SD 57109 Phone No.: 605.310.2495

Bidder: First Rate Excavate, Inc. Address: 1509 E. 39th St. N. City/State/Zip: Sioux Falls, SD 57104 Phone No.: 605.331.5626

Address: 27070 Duke Avenue City/State/Zip: Tea, SD 57064 Phone No.: 605.368.2253

LT Companies, Inc. dba

Bidder: Parkway Construction

Bidder: 605 Companies, Inc. Address: 700 E. 65th Street N City/State/Zip: Sioux Falls, SD 57104 Phone No.: 605.251.3185

Value of OFM: \$ 17,738.13

Item No.	Std. Bid Item No.	Description	Unit	Quantity	Unit Price	Total Price						
105	260.3010	Gravel Surfacing	Ton	495	\$25.00	\$12,375.00	\$21.00	\$10,395.00	\$23.38	\$11,573.10	\$34.25	\$16,953.75
	320.1215	Asphalt Concrete Composite, PG58-34 (Polymer Modified)	Ton	585								
106					\$141.00	\$82,485.00	\$136.95	\$80,115.75	\$183.40	\$107,289.00	\$160.00	\$93,600.00
107	380.0070	9" NonreinForced PCC Pavement	SqYd	175	\$120.00	\$21,000.00	\$121.00	\$21,175.00	\$148.50	\$25,987.50	\$130.00	\$22,750.00
108	380.3020	6" PCC Driveway Pavement	SqYd	243	\$71.50	\$17,374.50	\$74.80	\$18,176.40	\$91.80	\$22,307.40	\$80.25	\$19,500.75
109	380.3520	6" PCC Approach Pavement	SqYd	88	\$71.50	\$6,292.00	\$74.80	\$6,582.40	\$91.80	\$8,078.40	\$80.25	\$7,062.00
110	380.4010	6" PCC Fillet Section	SqYd	85	\$109.00	\$9,265.00	\$113.30	\$9,630.50	\$139.05	\$11,819.25	\$121.25	\$10,306.25
111	380.6000	Dowel Bar	Each	95	\$22.00	\$2,090.00	\$22.00	\$2,090.00	\$27.00	\$2,565.00	\$23.50	\$2,232.50
112	380.6115	Insert Steel Bar in Concrete Pavement, No. 5	Each	24	\$20.00	\$480.00	\$19.80	\$475.20	\$24.30	\$583.20	\$21.25	\$510.00
113	650.7000	Concrete Curb & Gutter Type SF66	Ft	936	\$21.00	\$19,656.00	\$21.34	\$19,974.24	\$26.19	\$24,513.84	\$23.00	\$21,528.00
114	650.8000	Concrete Valley Gutter 6" Thick	SqYd	50	\$109.00	\$5,450.00	\$113.30	\$5,665.00	\$139.05	\$6,952.50	\$121.25	\$6,062.50
115	651.0040	4" Concrete Sidewalk	SqFt	3770	\$6.80	\$25,636.00	\$7.04	\$26,540.80	\$8.64	\$32,572.80	\$7.50	\$28,275.00
116	651.0060	6" Concrete Sidewalk	SqFt	828	\$8.40	\$6,955.20	\$8.80	\$7,286.40	\$10.80	\$8,942.40	\$9.50	\$7,866.00
117	651.0860	6" Accessible Curb Ramp Sidewalk	SqFt	805	\$12.00	\$9,660.00	\$12.54	\$10,094.70	\$15.39	\$12,388.95	\$13.50	\$10,867.50
118	651.6030	Type B Detectable Warnings	SqFt	80	\$69.00	\$5,520.00	\$71.50	\$5,720.00	\$87.75	\$7,020.00	\$76.50	\$6,120.00
119	670.6010	S.F. Type Storm Sewer Inlet Apron Repair	SY	6	\$85.00	\$510.00	\$82.50	\$495.00	\$101.25	\$607.50	\$88.50	\$531.00
120	671.0100	Adjust Junction Box	Each	1	\$3,000.00	\$3,000.00	\$500.00	\$500.00	\$1,350.00	\$1,350.00	\$250.00	\$250.00
121	900.0450	Valve Box Adjustment	Each	8	\$160.00	\$1,280.00	\$650.00	\$5,200.00	\$303.75	\$2,430.00	\$175.00	\$1,400.00
122	900.0452	Valve Box Replacement	Each	4	\$1,000.00	\$4,000.00	\$850.00	\$3,400.00	\$337.50	\$1,350.00	\$450.00	\$1,800.00
123	950.5000	Adjust Manhole	Each	3	\$900.00	\$2,700.00	\$1,380.00	\$4,140.00	\$1,316.25	\$3,948.75	\$900.00	\$2,700.00
124	632.1320	2.0"x2.0" Perforated Tube Post	Ft	17.5	\$22.00	\$385.00	\$18.70	\$327.25	\$27.00	\$472.50	\$23.50	\$411.25
125	632.1330	2.25"x2.25" Perforated Tube Post	Ft	7	\$26.00	\$182.00	\$19.80	\$138.60	\$29.70	\$207.90	\$26.00	\$182.00
126	632.1340	2.5"x2.5" Perforated Tube Post	Ft	3	\$28.00	\$84.00	\$17.60	\$52.80	\$32.40	\$97.20	\$28.25	\$84.75
127	632.3050	Furnish Sheet Aluminum Sign with Reflective Sheeting	SqFt	20	\$20.00	\$400.00	\$33.00	\$660.00	\$20.25	\$405.00	\$17.75	\$355.00
128	632.3060	Install Traffic Sign on Post	Each	6	\$12.00	\$72.00	\$55.00	\$330.00	\$13.50	\$81.00	\$11.75	\$70.50
129	Special	Reset Traffic Sign	Each	5	\$32.00	\$160.00	\$55.00	\$275.00	\$40.50	\$202.50	\$35.25	\$176.25
130	250.0015	Incidental Work, Lighting	LS	1	\$1,710.00	\$1,710.00	\$907.50	\$907.50	\$2,196.32	\$2,196.32	\$975.00	\$975.00
131	635.4020	2' Diameter Footing	Ft	15	\$190.00	\$2,850.00	\$302.50	\$4,537.50	\$226.41	\$3,396.15	\$325.00	\$4,875.00
132	635.4630	Tie To Existing Luminaire Pole Base	Each	1	\$200.00	\$200.00	\$253.00	\$253.00	\$244.04	\$244.04	\$275.00	\$275.00
133	635.4800	Conduit Boring	Ft	80	\$20.00	\$1,600.00	\$50.60	\$4,048.00	\$22.77	\$1,821.60	\$54.25	\$4,340.00
	635.5420	Breakaway Base Luminaire Pole with 8' Arm, 20'	Each	3								
134	055.5420	Mounting Height	EdCII	3	\$4,500.00	\$13,500.00	\$5,005.00	\$15,015.00	\$5,528.21	\$16,584.63	\$5,350.00	\$16,050.00
135	635.6000	LED Luminaire Class 4K	Each	3	\$520.00	\$1,560.00	\$605.00	\$1,815.00	\$637.16	\$1,911.48	\$650.00	\$1,950.00
136	635.8020	2" Rigid Conduit, Schedule 40	Ft	546	\$7.40	\$4,040.40	\$7.26	\$3,963.96	\$9.09	\$4,963.14	\$7.75	\$4,231.50
137	635.8120	2" Rigid Conduit, Schedule 80	Ft	52	\$9.20	\$478.40	\$9.57	\$497.64	\$11.77	\$612.04	\$10.25	\$533.00
138	635.8200	2/2/2/4 AWG Aluminum Wire	Ft	630	\$3.50	\$2,205.00	\$2.97	\$1,871.10	\$4.16	\$2,620.80	\$3.25	\$2,047.50
139	635.8500	UF 14/2 Luminaire Wire	Ft	105	\$1.50	\$157.50	\$0.83	\$87.15	\$1.35	\$141.75	\$1.00	\$105.00
				_								
					Total Bid	\$ 816,667.21	Total Bid	\$ 831,259.33	Total Bid	\$ 840,092.44	Total Bid	\$ 932,367.14